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HAa-—- 1 (204) [A-1) 210 4 > (1-2) - 10 4]
(1-1) K A5 =R A, 30 8 2 7 #2 X, (homogeneous Euler equation) x*y” —Sxy’ +8y =0
(1-2) F #7 9F % S & $48% » 7 #2 K (non-homogeneous Euler equation) x2y"~Sxy'+8y =2Inx

A= (18 9)
Solve the initial value problem y" +16y = cos4t, ¥(0) =0, y'(0) =1 by Laplace Transform.
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®EEvg (245 ) [@-1) 54 (@2) 154 > (4-3) 1 4 4]

% ) =] B (r+2m) = £()
G-DEH [-7,7z] &M f(x) HEE
(4-2) K f(x) #4945 3 3 4 $ (Fourier Series)
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AN (£ 1259)
Calculate the work done by F = x-7 — y- f + yz - k in moving a particle along with the curve

Cix=t?y=-t,z=t+1 for 0<¢<2.[HRRFIAIEES IS BN ]
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